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(Graphical Representation of Motion)
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(Velocity-Time Graphs)

LTAL Syl § & (e ety 5
e L U6 5L S T fid S a2
/’ﬁl_‘a t'(ay//;lb4 /f—y:cau;i/.: = - oS
SO B N ia S e 7e UL E
L/f—xd -(8.5%) di’c‘ u:’ch/,«“jwi ) c(jl{:'
guﬁ/&//d/mﬁuguﬁsﬁf.&(}ﬂ;,gdﬂ?
ce $ ST UL Sa0km/mze

50
EEN
R 40

N 30
W2 20

3
Vo

N

2 3 4
()2
OV E ey, J S eSS > ol S8 ek 8.5 K
ﬁ;JiJﬁ@/p@aﬁju%vgﬁjgz;wT
s e s E U2 P 6 e
_Knd)bfézﬁd)ﬁd/fi;/myfcz}i::’)
"lf“bfi u.l(wé t,nlt, &}2’?/5&/?&8.5%
bEL 15 e tynlt cﬁ::“iié_/(}’”yﬁ
< BD gAchg’;lqu) i 40kmh-1-$§/4 S
—e VWb aBdLd, - tl)cﬁ}ﬁ;c‘gfd//zlﬁ
Vb AebU WL (- t) b2 5L KL
s =ACXxCD
=[40kmh™")x(t, —t,)h]
= 40(t, — t,)km
J/KABCD%(J@/’%VJS.S&)=
S K (f/u:;/t Z ;‘/(7‘51/" ul,{(’?
SHIE NI P 2 S, e

c,ff-



& e Ul CBAUFFIZL
&GLC%/J'B%LA%/}'&&’L
_ujég)uﬁ&éldﬁy

:J/}d/u:/"u.l{wé uy"i?'»fé.n b
o/ b d LTl e U
L EL s

.0.} .0.* .0.&
.L'G:—Ac)"/l Kcu":/’A’Bu’:/kSAJug
IS Yy
aG)lL$J)’¢LQf4uﬂlJ)’

) K& J}Ké‘ QoA ‘_ﬁ:b/l
U"Ur‘{) km
0 A

08.15 08.00
11.30 11.15 120 B
13.15 13.00 180 C

Ut b UF e UG bt S
ﬁrgj}&/@)}b&a}@&}(ﬁygu:}»
ﬁvgujﬁ:.é‘ujgﬁﬁﬂuﬁ 43/’.,&);‘!
4.55;99Jf’;uﬁ8.5gjw_ug L///gﬂ:ﬂ/
e Gkl U Tndebl U 2 5L

_é Z’f ?d/ uw'g ...5'/ Lol u]:)4

Lol S g b2 5L 8.5 e

W& oL ok | Lal sz =
Joilf Job

0 km Z‘fés.oo
548.05
6‘2,8.10
CZ.8.15
5;8.20
CZ_8.25

0.8 km 1.0 km

1.6 km 1.9 km
2.3 km 2.8 km
3.0 km 3.6 km

3.6 km —

SV 258 ke S L T
1/1/1/41,5 xu’.ﬂ/’/u’)-/w-u" é/r}’”ui.lﬂb
L/(L}M)JﬂbMM&L/;L/KJ"JMJ)L/LJ:J/
LJU’dﬁd/ﬂcjb’/uw/g/_bat‘h(/ﬂd)ﬁ
b ABCD /[ 4L (8, - t)]eko bl WL 2 U5
C‘—,?)JC’/’U/}d)ﬁ&Bjd//Kf)[&gv(s.Gf')t‘kg
Lo s b UL 2 5L K s fa?
S (8.6 ) e ABCDES L2

s =ABCDE."
— 3K ABCDUS + 5§ ADEEL:
- ABxBC+%(AD><DE)

yJJl/cﬁﬁ-/@:uﬁazﬂJw&!/iuLgﬁf
st

- (LJJ’/Z.:’J-JG/ K U)’ 8. 7(a](}¢
/Q e 8. 7(bU§,ﬁrLdﬂ’f;’lf:ﬁJ}/L’/u{J>
u{ utf/u*/w JLJ»’VL ) JU/J}-/L’/
_éu“fJgfé/Juil/ul-9t/}w

o

30
N
S 5o
,_\\ S
R T~ ]
E 10 8
I\
HHH dimns
0 1 3 4 5 6
(/t:'g)u")
(@)
30
N
PN N
~ 20 G ¢ -~
® /lﬂ’ a o .
g EREw4
= 104 ® u
, |

4 8 10 14 16 20

()=
. (b) . .
S b G G5 S Sl Ol s el 187 S
S ES Ty

116



al,véizmﬁ,_/@) 8.5.1
(Equation for Velocity-Time Relation)

AL ULt 2 b S K E T
FEF) LW tssf2 e w7
L5 T S =0vt v Fe 5586
Jox Ut ::5)/;/5’(/?A}:'J)‘L‘u’JB/dJGTJ&LIUj
Jnj LZal /"uLJ:/uE };’u.‘.'/ﬁ)_(/?B,bﬁ )‘gél‘m‘v’
/}IJ}{-C;’}‘#ﬂ@‘BE/}’BC}/LBﬂJS.Sy-C‘L
Ul on SIS L Aty L2270
‘BD=BC-CD-} & &L ;6 0C = 53l = BC
- t’/’;;lﬁ/&/é’dbi.”uf/@ubuﬁtcﬁ}ﬁﬁ

F
/l,
v aa
KN
g y 4
Tf/)
g pa
Vi
AF; r
mn
(0] c !
()
iy i, S S5 ol il sl ST S > 18.8 JSb

Sy
e A g apsgirlocAio
Sut

BC = BD + DC = BD + OA
:‘gt"nd‘lau:‘4£JOA = wsBC = u
v=BD +u
|

BD = v-u (8.8)

117

%

&‘)VJWL%}&’KSﬁ

(Equations of Motion by Graphical
Method)
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